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AR(1) (x+a) (x+b) O AK(2) FnDET5

x2+(a+b)x+ab = (x+a) (x+b)

A (3) ZO¥T

x2—2ax+a*= (x—a)?

x2+2ax+a*= (x+a)

KA (4) (x+a) (x—a) DFE

x?—a?=(x+a)(x-a)

[ 1] RO ZERE L 72 S 0,

(1) X2+ 8x+7 e @mATILEs 281 &7
:(x+1)(x+7)

(3) x2+3x— 18 #ms @A —18(2%2 2L —3 & 6

=(x—3)(x+6)

(5) x2+4x+4
=x24+2x2xx+22
= (x+2)2

(7) x2—9 =x>-132
= (x+3)(x—3>
[ 2] kDO ZRE L 72 S 0,

(1) x2+7x+10
=(x+2)(x+5)

MMNT, EMN10(245 28052 &5

(3) x2+12x +36
=x24+2x6xx+62
= (x+6)2

(5) x2—-16 =x>—4?
= (x+4)(x—4)

(2) 2= 5x+6 FA—5 HA6IHD28E—2 & —3

=(x-2)(x-3)

(4) x2=5x—36 #n —5 A —361=1228(E—9 &4

=(x—9)<x+4)

(6) x2=10x + 25
=x2-2x5xx+52
=(x-5)

(8) x>—49 =x>-7°
=(x+7)(x-7)

(2) x2—5x —24 i —5 s —2412%3 251 —8 & 3

=(x-8)(x+3)

(4) x*—6x+9
=x2-2x3xx+3?
= (x—3)2

(6) 49 —x> =72~ x>

=(7+x)(7-x) .
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